Intermediate Algebra 5.3-4 Multiplying and Dividing Polynomials September 25, 2013

Review Problems:
1. Write in interval notation: {x|x < —5}
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2. Solve. Write the solution set in interval notation.
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5.3 Multiplying Polynomials, cont.

Simplify. xm
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116. [x + (v + D][x — (y + 1)] = - ]oz_

126. Find (3n*)3if5(n — 1) = 2(3n — 2).
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Orders of magnitude PSSk Multiplying and

dividing scientific
|£0. <10 notation

Rewrite 4 X 10% in decimal notation.
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4" O OOO Express this quotient in scientific notation: —5'900“05
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(Sax10°)

08092020 .28828]

How many times smaller is 1 X 10 thgn 7 x 10 %7

-
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The length of a water molecule is 0,000000000278 meters. Estimate the length

of a water molecule by rewriting it in the form of * X 10Y meters, where x and Yy

are whole numbers. ) 8 % ,O"‘o o 3 . ID__'O
v

5.4 Division of Polynomials

Long Division 5?’§2\
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4. (x% = 14x +24) = (x — 2) :

X =12
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- (X520 (x-2)(x- vz>
A + 24
, -~ Cx+24)
X O
X = 2
6. (x3 + 4x*? —8)—(x+4)m
X
) K3, 408 KB =
- (< + 4y (D) =8
X o 2 -8
X ~X

\2
10. (18x% —=3x 4+ 2) + 3x + 2) =|( -
axt bx-5 + )

x| IBX*3x+ Quotient (ox-5

-—(18\x1+ 12
-15x+2_ Remainder: [
- (<I5%-10)
2
14. (12x* — 11x2 + 10) = 3x2 + 1) = A[ >
42— -0+
Bx>+| m Q\Loﬂ)ﬁt’
- (Rt 44> 4y -5
5222+ 2 TISX% 4 10 indeS:
T2 )-(- lf)xz— 5\ me\v/)

1S



Intermediate Algebra 5.3-4 Multiplying and Dividing Polynomials September 25, 2013

x4+ 3x*—x%+5x3 -2
0.
x4+ 2

X+ } 6)(“-1'5)(3— Xz,[.x_?

2 — 3x2% 4 5x3

24,
x2+3

e | Sx-3x + 2

Oﬂ\\tj Wo &S Lohen hwhd, f\j fj

Synthec Division (xx o)
28. (3x2 + 19x + 20) = (x+5) =
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30. (4x2 —8) + (x — 2)
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34, (3x2 —15) = (x + 3) _C 0\ 4 \Z
2] 3 o -5
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42. (x3 4+ 2x +5) = (x — 2)

3 —13x — 5x% 4+ 9x3 — 2x*
48,
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x*—3x3—-130
X+ 2

52.

Evaluate a Polynomial using Synthetic Division

Remainder Theorem: If the polynomial P(x) is

divided by x — a, the remainder is P(a).

56. Q(x) = 3x2 — 5x — 1; Q(2)

60. R(t) =3t>+t2—4t+2; R(-3)
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64. Q(x) = x* — 2x3 + 4x — 2; Q(-2)

68. P(z) = 2z* + 72 —3; P(—4)

Textbook Homework Problems:

5.4 #19-25 odd; 27-43 odd; 55-61 odd
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